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" hito.h

class hito{
public:

int age;

void print_age();
}

" hito.cpp

#include’hito.h”

void hito::print_age(){

}

std::cout << age;
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" hito.h

class hito{
public:

int age;
hito();

}

" hito.cpp

#include”hito.h”

hito::hito(){
age = 0;
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= hito() {
age = 0;
}

= hito(int settei_age){
age = settei_age;

}
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= hito() {
age = 0;
std::cout << “AVABMTIVRXTY . ¥n’;
}

= ~hito() { std:icout << “TFAPMTFVRTY., ¥n’;
}
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= void test() {
hito Human = hito();

}
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= hito(const hito& obj){
std::cout<< “AE—AVAPMF V727 L¥n;
}
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= hito You = hito();
hito Newman = You;
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class hito_ver2

int height

int weight class hito

int age




= class hito{

}

= class hito_ver2 : public hito {

}

s CALRBRUTEITEBEREZNS, EICHLVVEEZEML ALV
DIBEAED. BERT D,



iR L& Z2NDA ANV 42

= hito_ver2(int age, int height){
this->age = age;
this->height = height;

}
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= class hito{
public:
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}
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= class hito{
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void print();
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= class hito_ver2 : public hito{
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void print(); —ZNEFTHA—-—NN—F1PFICEVNET,
}
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= hito human = hito_ver2();
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= class hito_ver3 : public hito{

public:

void print(); J//RBIEEATEHEWLNTT,
}

hito (387 7 R)

hito_ver2 hito_ver3
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= hito humans[3] = { hito(), hito_ver2 (), hito_ver3 () };

n CABIESHTZEEXPVNET, CHEZE,. humans[0~2].print()
& X B EhitoDprintf=> f= W hito_ver2®print= > 7= ) hito_ver3
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hito *TEST[2];
TEST[O] = new hito(); //ENRIC X ) IR
TEST[1] = new hito_ver2(); /BRI X ) TR
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Creature *TEST[Z2];
TESTIO] = new Creature();
TESTI1] = new Humanil;

[
TESTIO]-»print();
TEST[1]-»print();

— Creature” u:'_'E:nmr||n~|:tr|u|| o

FTT 5 A — EBLT AL

s CALGRBRUTA-—N-S4 FLERAHHPBINICHEVEHEZNS

s 5L HAlcvirtual ZIRWVEEZDETREHD RO D,




= &N Thumans[0O]lEhito@Dprint., humans[1]lEhito_ver2® print
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humans [0]->print () ;
humans[1]->print ();
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= class hito {
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virtual void print();

}
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